KENDRIYA VIDYALAYA PICKET SECUNDERABAD : 09

Holiday H.W

Class VIII Science
To do the H.W in A-4 paper in a stick file

1) Collect the pictures of various agricultural implements and
briefly explain its uses.

2) Name some Kharif and Rabi crops.

3) Differentiate between:
a) Manure and Fertilizers
b) Drip system and sprinkler system

4) List various Basic agricultural practices

5) Collect the pictures of Traditional and Modern system of
Irrigation and explain it.

6) Collect the pictures of Silos and Granaries. Comment on it.

7) List out the names of some fertilizers,
weedicides,pesticides used in farms.

8) Name some harvest festivals. Collect the pictures of how
these festivals are celebrated in our country.

9) What preventions should be taken while sowing the
seeds?

10) What steps should be taken to protect from pests.
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Class:VIil Social Studies

1. Write short note on the following
a).Democracy b).Secularism c).Universal Adult
Franchise d).Mahatma Gandhi

Assignment for summer vacation - ENGLISH—Class VIlI

1. Read any story book of an Indian author. Write the book
review and why you like the story.

2. Write a diary entry of special events of any five days of
your vacation.

3. Write your own story/poem
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HOLIDAY HOME-WORK FOR CLASS-VIII-MATHEMATICS

NOTE: SOLVE THE FOLLOWING PROBLEMS ON A4 SHEETS (BOTH SIDES) AND SUBMIT ON RE-OPENING.
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BATIONAL NUMEERS
L The recguocal of 2 posstove ratonal mumber .
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11 Wite any 3 rational mumbers between -2 and 0.
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15, Represent these numbers on the mumber me. (:)%(u);‘é- (m)%(n-)%
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16, Represent TR LT on the mumber Ime

2. Find fice raticnal ssbers between. (:)%nd;w)}’md;(m)%u%

18. Wnte five ranonal muvbers greater than -2
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20. Wite.
(2) The rational mumber that does not have a reaprocal
(n) The rational munbers that arve equal to thelr recgrocals.
(m) The ratonal mumber that 15 equal to its negatmve.
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21, A drum full o rice weights 4016 kg, Ifthe enypéy drun weights 1334 kg, find the weight of rice
m the dnam

22, Raju earms Rs16000/month n.m% dbmubﬁ%dhmﬁsmh&
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26 Salom bought 2 kg orons at Rs. 12 pr K. 2 12K tomstoesat R 16 per Ky, How
mich money did <he grve to the shopkeeper”
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performance If 200 chuldren are takmg part, how mwch cloth wall the desizner need?
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